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QUESTION 1

Click the Exhibit button. 

You have created a GRE tunnel as shown in the exhibit. The router with tunnel endpoint A is dropping the packets
originating from User A and destined to User B. 

What would cause this problem? 

A. Endpoint A has the internet-options gre-path-mtu-discovery parameter enabled. 

B. User A requested fragmentation and Endpoint A has the clear-dont-fragment-bit parameter enabled. 

C. Endpoint A is missing a policy statement that allows User A\\'s traffic into the tunnel. 

D. User A is sending maximum size default Ethernet frames with the DF bit enabled. 

Correct Answer: D 

 

QUESTION 2

Which two statements about the default load-balancing behavior for the Junos OS are correct? (Choose two.) 

A. By default, the Junos OS performs a per-packet load-balancing operation. 

B. By default, the Junos OS installs multiple equal-cost next hops in the forwarding table for a destination prefix. 

C. By default, the Junos OS selects one of the equal-cost next hops for received destination prefixes. 

D. By default, all Packet Forwarding Engine slots are assigned the same hash value on the Junos device. 

Correct Answer: CD 

 

QUESTION 3

What are three reasons a router would send out an IS-IS link-state PDU? (Choose three.) 
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A. A new external route is imported from BGP. 

B. The router\\'s link to a neighbor goes down. 

C. A new neighbor exists on the link. 

D. The cost of a link to an existing neighbor has changed. 

E. IS-IS sends link-state PDUs at random intervals. 

Correct Answer: BCD 

 

QUESTION 4

You have an OSPF NSSA area that is also receiving IS-IS routes on the ASBR. 

In this scenario, which LSA type is used to announce external IS-IS routes? 

A. Type 7 

B. Type 8 

C. Type 1 

D. Type 4 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 

Which type of route is shown in the exhibit? 

A. generated 

B. direct 

C. aggregate 

D. static 

Correct Answer: A 
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